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FEAI AEELY
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21.81 | m® 21.
PRI FHEELY
Vi= 37.80 37. 80
37.80 | m® 37.
WEL FHEELDY
V1= 28.35 28. 35
28.35 | m® 28.
PEHIRIERR G £zl 21.81
AR 37. 80
59.61 | m® 59.
A B B %+ 0. 00
HEREL 28. 35
28.35 | m® 28.
7 AL ( #2E + R ) — ( &t + #E ) /0.9
V= 59.61 — 28.35 /0.9 28.11 | m® 28.
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WO M W w | B £ R | Bmm| F W | £ R | B@A| ¥ | E R
(m® (m® (m”) (m® (m® (m”) (m® (m® (m”)
NO. 0 NO.O +  0.00 0.00 0.33 0.84 0.63
NO.0+4.2  |[NO.O +  4.20 4. 20 0.33 0.33 1. 39 0. 84 0. 84 3.53 0.63 0.63 2.65
NO.0+9.5  |[NO.O +  9.50 5. 30 0. 42 0.38 2.01 0. 84 0.84 4. 45 0.63 0.63 3.34
NO.0+16.3 |NO.O + 16.30 6. 80 0. 68 0.55 3.74 0. 84 0.84 5.71 0.63 0.63 4. 28
NO. 1 NO. 1 3.70 0. 68 0.68 2.52 0. 84 0. 84 3. 11 0.63 0.63 2.33
NO. 1+10.0 |[NO.1 + 10.00 10. 00 0. 42 0.55 5.50 0. 84 0. 84 8. 40 0.63 0.63 6. 30
NO. 2 NO. 2 10. 00 0. 42 0. 42 4.20 0. 84 0.84 8. 40 0.63 0.63 6. 30
NO.2+5.0  |NO.2 +  5.00 5.00 0. 56 0. 49 2.45 0. 84 0. 84 4. 20 0.63 0.63 3.15
&t 45. 00 21.81 37. 80 28. 35
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(250 X 400) L= 12.00 12.00 | m 12.
H A BeEE PSS TR X v

(250 X 500) L=  2.00 2.00 | m 2.
a7 U—FR%E N= 3.66 +— 0.50 — 1.00 6.00 | & 6.
(UZR4{RI7#:300)
T —F 7 N=  3.66 +—  10.00 1.00 | #% 1.
(UZR4{RI7#:300)
a7 J—FRZE N= 3526 + 2.00 = 0.50 —  4.00
CELEERED) 31.00 | # 31.
T —F 7% N= 35.26 +—  10.00 4.00 | #% 4,
(B 2B NIT#250)

KT

AEIK SEEK LY
(400 X 800 X800) | N= 1. 00 1.00 | A 1.
MaE sbav))-h W, EERTmX LD

(t=10cm) A= 0.39 X 20.00 7.80 | m?

$¢No. 07> 5No. 21 £ I20m  FHIBEO. 39m
> 7.80 | m? 7.
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330
530
4 PR At B <P AVARE ¢
UL N= 10.000 = 2.000 5.000 | A& 5.00
(3FE300B) ( L=2000, & E&=471ke/{# )
SHERRED YA 7 VR
ELZL | V= 0.330 X 0.030 X 10.000 0.099 | m°® 0.10
(1:3)
Pyl A= 0.530 X 10.000 5.300 | m? 5. 30
(RC-40, t=10cm)
FLEREIE A= 0.530 X 10.000 5.300 | m? 5. 30
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4 PR At B =V VAR ~'¢
HHAEABMEREE | N= 10.000 =  2.000 = 5.000 | {# 5. 00
(250 X 300) (L=2000, %% = 266kg/f#)
A R — K v="( 0.061 + 0.240 ) = 2.000
ay 7 Y—h X 0.250 X 10.000 = 0.376 | m® 0. 38
(18-8-25BB)
Hfgar 27U —hk V= 0.450 X 0.100 X  10.000 = 0.450 | m® 0. 45
(18-8-25BB)
] b T A= 0.100 X 10.000 X  2.000 = 2.000 | m’ 2.00
FLHERS A= 0.550 X 10.000 = 5.500 | m? 5. 50
(RC-40, t=10cm)
R IE A= 0.550 X 10.000 = 5.500 | m?’ 5. 50
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HHAEABMEREE | N= 10.000 =  2.000 = 5.000 | {# 5. 00
(250 X 400) (L=2000, & EH&=2312kg/f#)
A R — K v=( 0.060 + 0.161 ) = 2.000
a7 J—k X 0.250 X 10.000 = 0.276 | m® 0.28
(18-8-25BB)
Higm 2 U—R| V= 0.450 X 0.100 X 10.000 = 0.450 | m® 0. 45
(18-8-25BB)
[A] AR A= 0.100 X 10.000 X  2.000 = 2.000 | m?® 2.00
FLHERS A= 0.550 X 10.000 = 5.500 | m? 5. 50
(RC-40, t=10cm)
FLmEFEIE A= 0.550 X 10.000 = 5.500 | m? 5.50
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HHAEABMEREE | N= 10.000 =  2.000 = 5.000 | {# 5. 00
(250 X 500) (L=2000, & E&E=413kg/f#)
A R — K v=( 0.141 + 0.160 ) = 2.000
a7 J—k X 0.250 X 10.000 = 0.376 | m® 0. 38
(18-8-25BB)
Higma 2 U— K| V= 0.470 X 0.100 X  10.000 = 0.470 | m® 0. 47
(18-8-25BB)
[A] AR A= 0.100 X 10.000 X  2.000 = 2.000 | m?® 2.00
FLHERS A= 0.570 X 10.000 = 5.700 | m? 5.70
(RC-40, t=10cm)
FLmEFEIE A= 0.570 X 10.000 = 5.700 | m? 5.70
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4 PR At A AL =%
W& FHASHEFS | N= 1.000 X 10.000 = 10.000 | %t 10. 00
(400 X 800 X 800) ( 2 HEE=551kg/ AL )

TV —F 72| N=  1.000 X 10.000 = 10.000 | # 10. 00

(T-25, 400 X 800)

A 2 R— K V= 0.050 X 0.400 X 0.800 X 10.000 = 0.160 | m® 0.16
ar7 Y—Fh
(18-8-25BB)

Hpgar 2 U—R V= 1.180 X 0.710 X 0.100 X 10.000 = 0.838 | m® 0.84
(18-8-25BB)

[A] R A= (1.180 4+ 0.710 ) X 2.000 X 0.100
X 10.000 = 3.780 | m? 3.78

FAERS A= 1.280 X 0.810 X 10.000 = 10.368 | m? 10. 37
(RC-40, t=10cm)

FLmEE e A= 1.280 X 0.810 X 10.000 = 10.368 | m? 10. 37




W& a2 v 27 U — bk (10m224 1) )

4 PR At A BAT|
a7 U—k | V= 10.000 X 0.100 = 1.000 | m® 1. 00
(18-8-25BB)

H Hipt N= 10.000 = ( 0.390 X 10.000 ) 2.564 | &7

(A E A, =10mn) | A= 0. 390 X 0. 100 X 2.564
Sl ra10mfE 2 B 2 5 E T 5,
OO, 390m

0.100 | m® 0.10




g % T #H B & (3% 1)

T AT 7V MahET

EREE S
*=fE R EELD
(t=50mm) A= 197.69 = 197. 69
DI 197.69 | m? 197. 7
e ARt EE LY
(M-30, t=100mm) | A= 197.69 = 197. 69
> = 197.69 | m? 197.7
FTANEH | A= 7.00 X 1. 00 7.00 | m?

¥ AEMRINo. 049. 57> BHNo. 0+16. 353 EE7m, tE1m

X = 7.00 | m® 7.0




] e ] A = B =
- B B T ® % T
WA RREw s @ m | W | F B | @ | W | F B | m M
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O +  0.00 0. 00 2. 86 2. 86
NO.0+4.2  [NO.O +  4.20 4. 20 2. 86 2. 86 12.01 2. 86 2. 86 12. 01
NO.0+9.5  [NO.O +  9.50 5. 30 3. 76 3.31 17. 54 3. 76 3.31 17. 54
NO.0+16.3 [NO.O + 16.30 6. 80 6. 36 5. 06 34. 41 6. 36 5. 06 34. 41
NO. 1 NO. 1 3. 70 6. 36 6. 36 93. 53 6. 36 6. 36 23.53
NO.1+10.0 [NO.1 +  10.00 10. 00 3. 76 5. 06 50. 60 3. 76 5. 06 50. 60
NO. 2 NO. 2 10. 00 3.72 3. 74 37. 40 3.72 3. 74 37. 40
NO.2+5.0  [NO.2 +  5.00 5. 00 5. 16 4. 44 22. 20 5. 16 4. 44 22. 20
&t 45. 00 197. 69 197. 69
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BEEHE
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27 Y—Fk | V= 100.000 X  0.100 = 10.000 | m® 10. 00
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VR4 A= = 100.000 | m? 100. 00
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a7 J—F HEHEELY
EEwEREEL | V= 2.01 2.01
(JREA7)
No. 2735 No. 24521 o 7 U — &k
V= 4.20 X 5.00 <=  2.00 0.1 1.05
L :5.0 W4.2
> 3.06 | m® 3.
T AT 7L R BEFHEELD
SHAERREUEE L | A= 228.00 228. 00
(t=10cmlL F)
> 228.00 | m2 2928.
& & Y)W
(2>27V—1r) | L= 6.50 +  4.20 10. 70
(t=15cmlL T) S¢No. 27> B No. 245113t
> 10.70 | m 10.
SEERREIT | L= 3.30 +  3.60 +  5.60 = 12. 50
(7277 1) $¢No. OFEWT : 3. 3m, No. 2451AiE : 3. 6m. No. 2+54%Hr : 5. 6m
(t=15cmLLF)
> 12.50 | m 12.
TR ALEE T
BOE S EE L LY
= s U—1) | V= 3.06 3. 06
> 3.06 | m® 3.
BOE EEMEIEL LV
(Fx77A k) | V= 228.00 X  0.05 11. 40
> 11.40 | m? 11.
WALy HOER X
(=2 v—1) | V= 3.06 3. 06
> 3.06 | m* 3.
RISy ARIEE LD
(FAZ77R) | V= 11.40 11. 40
> 11.40 | m® 11.
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. 7T A 7 7y v b= ) — MO B = s U — b
Wa s o omo o& | M Fo| ¢ B | m B | W | F | @ M (Bmk| T B | kM
(m) (m) (m®) (m) (m) (m?) (m?) (m?) (m°)

NO. 0 NO.O  + 0.00 0. 00 3. 30 0.05
NO. 0+4. 2 NO.O  + 4.20 4.20 3.30 3.30 13. 86 0. 05 0. 05 0.21
NO. 0+49. 5 NO.O + 9.50 5.30 4.20 3.75 19. 88 0.05 0.05 0. 27
NO. 0+16. 3 NO.O + 16.30 6. 80 6. 80 5.50 37. 40 0. 05 0. 05 0.34
NO. 1 NO. 1 3.70 6. 80 6. 80 25.16 0. 05 0. 05 0.19
NO. 1+10.0 NO.1 + 10.00 10. 00 4.20 5.50 55. 00 0. 05 0. 05 0.50
NO. 2 NO. 2 10. 00 4.16 4.18 41. 80 0. 05 0.05 0.50
NO. 2+5.0 NO.2  + 5.00 5.00 9. 80 6. 98 34. 90

&t 45. 00 228. 00 2.01
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